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And upon his brother’s wife — 1IN NWKR 93

Overview

The mawn states if someone was 1rX NWR Y X2 he is obligated to pay 0ip.
There are various difficulties concerning this case. She cannot be currently
married for then there is a 7"2 nn°» 2. If she is widowed without children
(with children she is no 771n2), then there is a 212° 21°17 and certainly no 21°
oip. In addition, 895 21 is of the opinion that the cases of 121 10K HY K27 are
concerning a 7iNdM. Generally the 01p of an 71MdM 101X belongs to the father
(unless she is a N etc.). If she was once an 7017, the 01p belongs to her
(according to one opinion). However, a fin®» herself can never receive
payment; for since she consented, the 01p is assumed to be %nni. How can
this case of IR NWX Y X271 be justified? She is a iMd» (according to X955 27),
she was once an 701K (1R NWR) so 7AXY" 1701p, however, a N®dA receives
no 723¥v? 01p. Our nwon will discuss these issues.

= 19 NPIPN 19 R AN R AR NLK "NYWIIT 197 IR0 11717 79
The n''9 explained that the >»%wy 750 asks; the 71wn mentions that X257
IR NWR OV pays 03P, how can that be; is she not his 7229?! And therefore

she is bound to him to receive either 012° or 7% -
= 12 "W N131 01 AN

And how is the concept of either 812 or n1> applicable by her.!
— ["O1I'NA (A N2 1K1 NI0KR AN 0% 19 W3 "wnl

And the "n5v1° answered that her husband (the brother of the tixn) had
children from another wife (which removes the 7ip°r of 012°) and the 71wn

is discussing a case where her husband died while they were betrothed
before the 1XW°3, so she is still a 79102,

The 1" comments on this 17w17°;
- i7" nanN‘J D AT 1A R1m

And in fact the *n%21 could have similarly established the 7i1wn in a case
where she was divorced from her husband (301787 7). In that case there is no 213°.

mooIn asks a question:
= N33 179 0112\ 21 ]2 pAXT 1119 AWM

And the X''2%1 has a difficulty; according to Xep 2 -
— 37 "NIPINY *¥N T WPN o v 51 priwe) TN0 [ P1932 AMONA ANNn 0 P

' The "1 is assuming that since the case of AWK MAX is (only) 113 as the 7awn states, she cannot be
currently married to his brother (for then there would be a 7"°2 nn» 21°17), and she also has no children (for
then she would not be a 79102 [and ineligible to receive 01p]). Therefore her husband must have died
childless; in which case she is 212°% P71

% See vix WX 71 71"7 *"wA. See “Thinking it over # 1.
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who establishes in 27 32 pap that our mw» (of 121 MR OV XI7) is
discussing a seduced woman (only, and not an 390nR), there is a difficulty,

how can he establish the 7wn in such a situation of a 71097 -
— DI 19 'R AMON ANXYYT (1" coy 97 Py INNDY N0IP AWAANN 0NN RAT

For the rule is that a 77v1 who was previously betrothed and divorced and
subsequently violated she receives her *o1p (and not her father as is the
usual case). And since it is hers and she is a 019 she receives no o1 -

- 77320 ANDTAT DIWN ‘A7D1 W21 G mpy) XTI [IMINRTI
As the R=%3 states further, and in the beginning of 79w1 P75 that a 7nd»
receives no 01? (when it is due to her, and not to her father), since she did it
with her consent’. xo5 17 maintains that the case(s) of ("\MNX %y X277 and) NWR HY K27
21 11X is concerning a 7M. There is 01 by a Md» only when it is paid to the father.
The case of X NWX %Y X237 is concerning a woman who was divorced or widowed ( 1»
T01RT). A woman who was 121 707Xn1 receives the 01p herself; it is not paid to the father.
How then can X535 27 establish the case of IR nWX ¥ X277 by a 7Mon; there will be no d1p
paid to this 7mon!

mMooIN anticipates a possible solution (and negates it):
= "1 1"ANY NOIP1 sN]'I“'I:ﬂ NA'PJD 173 I'N1INNT N1N 120P7T XN'N "N

And if you will say that (according to X595 17) the Xin of our mwn (who
awards a D1p to 1°IX NWX) agrees with ¥''1 of the Xn%"12 who maintains that

the o1 of a MW AN 70XRNIY 771 belongs to the father. This would resolve our
difficulty; since 7°2K87 03P, then we can discuss a 7mon (as well), for if 7287 701p then
the father of a iMon always receives the 01p.

mooIN negates this answer:
= 1119 1N1 D N3AN v ow) "1NPT 8I'0 01" "WP'N N3N |J ON

For if this is so (that the 71wn is following the view of Xn»127 ¥"7 that 70Ip
7aRY [even if 121 7078N1]), the 8298 of our mwn is difficult according to the

xin;” for the mawn states that 102 ¥ X377 is exempt from 817, and the mwn
gives the reason -

? See the X3 there that there is a difficulty with the 01X paying 01p; since he is w932 12°%7% 10°3.for being
71777 IR 9717 he should be 01pn 75 on account of 7°1°1 72772 777 op.

* This is the view of ¥"7 in the 73wn there. She is considered to be independent of her father in this respect
after her (7w17°x) POITK.

> This is derived from the 7w R X2 MWK (119,23 [X¥N] 0*127) P10S.

6 x,an 77.

"It is considered as if she was 5m the 03p. See “Thinking it over # 2.

% X,7> 77. The X703 there (2"V) says that there are ¥"7 X279X1 *Xin *n.

? The x9°0 is difficult to understand; how can there be a 03p 211 by 102 %¥ X271 The 03P belongs to the father
anyway. If we would maintain that by 7n¥y% 703p 70981, then we could explain the 9°0 of 102 in a case of
707RN1. See (TRT) ®"wAnn [that we need not necessarily maintain that the X9°0 is only by a 7man (see
commentary on the margin of m»01n)] and 7¥ NIX 7"210. However now that the X1 maintains that even
T°2RY 1703P T0TRNI, so M1OIN assumes the same would apply to the X9°0 of 102 By X277 that even if 703p 70IRNI
IRY.
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- 1"1'n 131771 1 OpPT 01N

because he receives the greater punishment of 7"2 nn>n. If however we maintain
that 792X 1703p, why is it necessary to give the reason of the 215 on account of n"2%p -

- "1 1"ANY N0IPT A" J1otn
We can derive that the father is M5 from 01p since the 21 belongs to the

father (whether 707%n1 or not); there can be no obligation for one to pay himself. There
is no need to mention n"2%p.

mooIn anticipates and negates a possible solution. We cannot say that we maintain that
3mey 7037 (and that will explain why the 1102 is only because of n"27p) -
= 19NNT A" "Wpn NnXRLI N1

For if the 017 belongs to her, (and we are discussing an 701K [NK
noaxRnIRw]) there is the difficulty in the Xw» (by YR nwX ¥ X277) that she

forfeited the o3> with her consent. If we maintain 7°ax> Xo1p then the ®9°0 is difficult,
why do we need the M5 of n"2%p; if we maintain 77%¥Y> X01p why is there a 03P 211 by
PR NWR ¥ 827, for since she is a 1Mon (according to &9 27), there is no 03P 7.

mooIn continues that (even if we maintain [with great difficulty] that the X" is of the
opinion that 7°aR? X01p and the RX9°0 maintains 72%Y? X01p, nevertheless) if we maintain
that the X995 17 is referring both to the X7 and the &9°0, that in both situations we are
referring only to a mdn, then there is a greater difficulty:

- N3'0 "pn a1 anm
And in any event X2°0 of 102 v X237 is difficult according to "1 whichever

way you choose to interpret the mwn. If 7°3x87 703p then there is no need for n"a7p
since it belongs to the 1non; if 7nyy? o3P (for it is a case of 70IRNI), then by a 7Mon there
is no 01p. Why does the 7awn state that 12 %¥ X277 has no 01 because of n"2%p, when there
are much simpler reasons?!

To summarize: X959 17 maintains that our 71w» that is 01 2>°1n for NIN*12 21 (including
PR NWR ¥ 827) is concerning only a mon. In the case of 1Nk NWX, she was 121 10IXNI; in
which case nnyyH 701p (according to 1Pn°annT ¥"). A nmon is Pmin her 01p. How can there
be 01p by 1*nx nwk?! The alternative is to (reluctantly) presume that our 71w follows ¥'"
XN°>127 that 7078N12 the 03P is x>, Therefore he collects the 0P by 1R NwX. However
if we assume that our 73w» maintains 7°aR? 703 by 70781 it should be assumed that the
%90 of the mwn also maintains that by 7°2x% 101p 17078N1. This would present a difficulty
in the X9°0 (even if it is discussing an n01XR) where it states that In2 %Y K27 is 0P WD
since n"2%p. This 890 is difficult; it should be obvious that 102 ¥ X277 is MWwd from 0Ip
(even) without »"2%p! Who should pay the 03 to whom?! The 01p belongs to the father
who was the Dixn! However if we were to maintain that 7n¥v? 7017 707I8N12 then we
could have explained the case of 102 ¥ X271 is when she was 121 7707%n1. The mwn teaches

' The xo°0 is discussing 12 who was 21 707%n3; the Xw* and X5°0 will follow the ¥"7 X272% *Xin N,
respectively.
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that since n"2% the father is "W from paying the daughter the 0ip. The X2© must
maintain 7%y 7037 while the X@™1 maintains 7°38> X01p. This is difficult to assume.!!

In addition if we assume that according to X595 27, the X9°0 of N2 is (also) concerning only
a 7non, there is no way to explain 2. If 7°aR 701p (then whether 70IXN1 or 707RN1 RY)
there can be no 03P 211 (from the father [the 7non] to the father). And if we will say that
she was 707X&n1 and Y7 701p, there still is no 01 21, for a MR is mn the 0ip. There
is nolgeed to exempt the father on account of n"2%p, since there is no dIp 211 to begin
with.

mooIn offers an answer:
- 111321 1132 N9 1D ™11 X101 NN1 Nn NI TD N0 NAW3I N9 "Pm 13‘T]'JI.'IJ'I'I‘:I 1n'ni

However in the "»%217° 71150 he establishes the case of 102 v X371 in a
situation where (she was never 7107803, and) the father was 7°9¥ N2 before
his death and he died before the 172 7727 (in which case the estate owes
her the money);'* and similarly we can establish the mwn in a case where
the father was 7°%v X2 before she was a na312 (she was still a 77v1) and she

became a N33 (before the 772 .‘lmsm).lS In either of these cases, she would have
received the 03p either by inheritance or by maturity (were it not for the 2 of n"2%p).

mooin offers an alternate answer:
= 0131 NI1AN XIX 1MN3 1I'N AMan1 16"IJ'JI.IJ'I'I‘:I INNRT RN

And according to what the "»b219° 71m%n states that by a nnwo», he is

exempt only from paying for the aapy nw2 -
— T'IW "NX NNY 1913' AN 01 IR

However she cannot be 5m» the o1p;'7 the case of 12 Yy X317 will be

properly understood (as well as Pnx nwx 9y Xa7), that (even) if mnxy> nop
(nevertheless) even a 1Mo receives the 01p [were it not for the ?3":1.5?].18

' This difficulty is regardless whether we assume that the X0 of 102 is (also) concerning a 9.

"2 The last question is (in a sense) not as strong as the initial question which assumes that we maintain 703p
mnxyY; for this is the view of 1n°1nn7 ¥"1. Therefore it is not understood why there is a 01 211 by 11X NWX.
The last question is merely that 2"2%p is not necessary (by 1n2); it is not however a question on the 7.

" 3" 782, See “Thinking it over’ # 3.

'* The explanation may be as follows: when we say that 7728 71037 ([even] by 707Xn1 XY), it really is owed
to her; however since she is 7°2aR M2, the father collects the 0P (even when she is a 1Mo», for she has no
right to be 2mn something which [eventually] belongs to him). By 1n2, when the father is still alive, there
can be no 172 7MY, because no one is claiming anything from anyone. The father is the 7ns» and he
receives the 01p. However when the father dies (before 172 771¥7), and she becomes independent, she has a
claim on her father’s estate for the 01p which was due to her (and merely transferred to her father) and was
never ?mnl. The father’s estate must now pay her this o3p.

"% See previous footnote # 14. When she becomes a n1312 and independent from her father she can
(retroactively) claim the 01p that was (originally) due to her (and merely transferred to her father).

16 3 1x3.

' The "W explains that 03p can only be collected after 172 772977 in 7"3, so that at the time it was a 927
W2 1RY (a 021? X2 KW 127) therefore she cannot be 7m; as opposed to 0391 nw1a which he owes her
regardless of the 172 7TvH.

'8 The xw™ of YRR NWX ¥ X177 can (even) maintain n¥YY 701PT 117 ¥"13; and the X9°0 of 12 Yy X371 will
maintain that (even if) Xn»127 ¥"12 7n¥y? 101p (she receives no 01p since n"2%p).
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= 0Ip 19°9X 19 I'NT DN 717 0“3 11"
However our 922 7790 seems to maintain that a 7n5» does not even

receive the 21p -
— UIp N9 'RW AMaN1 AN (s 91 ‘NAA (AP '/P1ga [0 1987 KA Pt

For the X n3 establishes that which is stated in PPY» 37 X P9 that the
reason the %¥12 receives NMP2» and not 01p, is because there the mwn is
discussing a 0> (where the father cannot receive the 0i1p) and a nnen,

who receives no °ip. It is evident from that X3 that a 7n9n is not paid anything
including 01p.

Summary
The case of 1°IX NWR Y X277 is when she was either 1°017°8:7 1 7wIAN1 or the

deceased husband had children from a previous marriage. This case presents
difficulties if we maintain like X995 17 that we are discussing a 7nm®o»n and
MAXYY 101 AwIann 7o7RNl. The ®9°0 of N2 %y K27 is difficult according to
5"9; for whether we maintain 723¥¥% 703p or 7°2KX? there is no need to exempt
the father on account of n"2%p. There can be two resolutions: either that the
case of 12 is when the father dies (or she was 7732) 1°72 772v7 27P; or that
01p cannot be 7rn1 (according to the "W).

Thinking it over

1. The "n?w17° maintains that the case of X NWX is where he had children
from another wife. The 1"7 (and °"w7) maintains that she was a awra.
What are the advantages of each interpretation?

2. What would the 17 be in a case where the 01p is due to the 7m®o» (not to
her father) and she stated to the 7inon initially that she is not 5m» the 01p?°°

3. The "1 explains that the case of 112 %Y X271 is when RoW ¥ 795y Xaw>
nm nn. Seemingly the 5w could have answered that we are discussing a
nM9n who was Iwaand 708N, in which case n¥yY 03P and she cannot be
5mn the 01p (according to the nowi)!11*!

19 See footnote # 2.
20 See footnote # 7. See Xy MK 7"20.
2l See footnote # 13. See 2"x MX 7"10.
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